Maths — Day 2 — 08.07.21 - Chilli Challenges
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Calculate the answers to these questions — the formal column method has been laid out for
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Complete the following calculations using the formal column method - use the squared paper on the

next page

a. 8,273 +1,519
b.5,532 + 2,393
c. 2,556 + 6,642
d. 8,273 +1,519
e. 5,532 + 2,393
f. 2,556 + 6,642
g. 3,648 + 5,261
h. 223 +943

Can you find out what the missing digits are in this formal
column method calculation? Th H T O

Harley says that there is more than one possible answer for
the missing numbers
in the hundreds column. Is he correct? Th H T | O

Complete:

Explain your answer.




